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ROMAJI

Senshii wa yama ni noborimashita. Hayaku okite, densha de yama e ikimashita. Shikashi, obento o
wasuremashita kara, mise de obento o kaitakatta desu. Yama no chikaku no eki ni bentoya ya pan‘'ya
nado ga arimasen deshita. Totemo taihen deshita.

Sore kara, tabemono o motanaide yama ni noborimashita. Yo-jikan gurai nobotte totemo tsukaremashita.
Sono toki ame ga furimashita. Samukatta desu kara, hayaku eki ni kaerimashita. le no chikaku no eki ni
itte resutoran de atatakai bangohan o takusan tabemashita.
Doshite “taihen” deshita ka.

1 Mise ga arimasen deshita.

2 Mise ga tokatta kara desu.

3 Yama ga takakatta kara desu.

4 Tabemono o motte iru kara desu.

ENGLISH

Last week, (I) climbed a mountain. (I) woke up early, and went to the mountain by train. However,
(I) forgot my bento, so (I) wanted to buy a bento at a store. At the station near the mountain, there
wasn’t a bento shop, a bakery, or anything like that. (That) was really terrible.

After that, not carrying food (I) climbed the mountain. (I) climbed for about 4 hours and was totally
exhausted. At that time, (it) rained. (It) was cold, so (I) quickly returned to the station. (I) went to
the station near (my) house and ate a big warm dinner at a restaurant.

Why was it “terrible”?
1 There weren’t any stores.
2 Because the stores were far away.
3 Because the mountain was high.
4 Because (I) brought food.
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The correct answer is #1-[§Hh* HYFEFELBATLI:.

The author went mountain climbing, but forgot his bento, so he wants to buy a bento at the station.
However, he writes that ‘there are no bento shops, bakeries or anything like that at the station near
the mountain”.

L 50D BRIZT NALIPP® AU PBEHN HUFIEATL
Yama no chikaku no eki ni bentoya ya pan’ya nado ga arimasen deshita.

What are bento shops and bakeries? They are stores, so answer 1 is the best answer. For answers

2 and 3, there is nothing in the passage that would suggest this. Answer 4 may seem like a valid
answer at first glance. However, not bringing bento might be terrible, but bringing a bento would
be a good thing.
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ROMAJI

Doko de bangohan o tabemashita ka.
1 le no chikaku no tokoro de.
2 le ni itte iru densha de.
3 Yama no ue no tokoro de.
4 Yama no chikaku no eki no tokoro de.

ENGLISH

Where did (the author) eat dinner?
1 At a place near (the author’s) house.
2 In the train going to (the author’s) house.
3 At the place on top of the mountain.
4 At the station near the mountain.

The correct answer is #1- WA D BHKDETAT.

In the last sentence of the passage the author says he went to the station near his house and ate a

warm dinner, the station near his house is a ‘place near his house’ (\Z\ZD BN CDYIAT), so
answer 1 is the best answer.
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ROMAJI

Watashi ga wakai toki ni chichi wa watashi no gorufu no sensei deshita. Mai-nichi neru mae ni issho ni
gorufu o renshii shimashita. Shii-matsu wa gorufu o shite imashita. Muzukashikatta desu yo. Shikashi,
dondon jozu ni narimashita. Ryoko ni iku toki mo gorufu o shite imashita.

Ima wa chichi no karada ga yowaku natta kara issho ni gorufu o amari shimasen. Watashi wa mada gorufu
o shite imasu. Hitori demo tanoshii desu. Kodomo ga umareta ato de, kodomo to issho ni shitai desu.
Chichi ni “Arigato.” to iitai desu.
Wakai toki ni itsu “watashi” wa gorufu o shimasu ka.

1 Mai-ban, sha-matsu.

2 Mai-ban, shi-matsu, natsu yasumi.

3 Mai-nichi, yasumi.

4 Shid-matsu, yasumi.

ENGLISH

When I was young, my father was my golf teacher. Every day, before (we) went to bed, (we)
practiced golf together. On the weekends, (we) played golf. (It) was difficult. However, (I) gradually
got better. When on trips (we) also played golf.

Now, my father’s body has gotten weaker, so (we) don’t golf that much. I am still playing golf. Even
by myself (it) is fun. After (my) kids are born, (I) want to play golf with (my) kids. (I) want to say ‘thank
you’ to my father.

When (“I”) was young, when did “I” play golf?
1 every night, weekends
2 every night, weekends, summer holidays
3 every day, holidays
4 weekends, holidays

The correct answer is #2- FWMEA. L 5FD. LDk .

The author says she practiced golf every night before she went to bed, and on weekends. Later, she
mentions that she even went golfing when she traveled.
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ROMAJI

Doshite “watashi” wa chichi ni “Arigato.” to iitai desu ka.
1 Kodomo to gorufu no renshi o shita kara desu.
2 Ima demo isshoni gorufu o suru kara desu.
3 Chichi wa hitori demo tanoshikatta kara desu.
4 Watashi ni gorufu o oshieta kara desu.

ENGLISH

Why does “I” want to say “thank you” to her father?
1 Because (her father) played golf with (her) kids.
2 Because even now (they) play golf together.
3 Because (her) father had fun by himself.
4 Because (he) taught me golf.

The correct answer is #4-bfcLic JIV7% HLAKLHISTT .

Most of the passage is about how the author has enjoyed golf a lot, and the author’s father taught her
how to play golf, so she wants to say thank you. For answer 1, this sounds like her father practiced
golf with her kids. For answer 2, the passage says that her father is weaker and doesn’t play with her
a lot, so this seems like a strange thing to thank him for. For answer 3, it doesn’t make sense that
she would thank him because he enjoys playing golf by himself.
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ROMAJI

Neko wa urusakute hito ga amari suki janai to omoimasu kara watashi wa neko ga kirai desu. Tokidoki
neko wa soto no gomi no hako o akete naka no gomi o tabemasu. Gomi no hako no atari o kitanaku
shimasu.

Ototoi neko ga gomi o tabenagara totemo urusaku naite imashita kara watashi wa okimashita. Soto ni
dete “Tsukamaemasu yo.” to okii koe de iimashita ga, neko wa chiisai koneko to issho ni imashita. Sono
koneko wa mada me ga akanai chiisai koneko de naite imashita. Sore kara, ie ni gyunyii o tori ni kaette
sono nekotachi ni agemashita.

Kyo wa supa de esa o katte sono nekotachi ni agemasu. Hoka no neko wa mada kirai desu. Shikashi, sono
nekotachi wa suki desu.

*esa — dobutsu no tabemono

*atari — hen

*tsukamaeru - toru

*koneko - kodomo no neko

Doshite “watashi” wa neko ga kirai desu ka.
1 Neko wa kitanai kara desu.
2 Neko wa gomi o taberu kara desu.
3 Neko wa urusaku nakute, hito ga suki ja nai kara desu.
4 Neko wa hito ga kirai de, shizuka ja nai kara desu.

ENGLISH

Cats are loud, and don’t like people that much, so I hate cats. Sometimes, cats open my outside
garbage bins, and eat the trash inside. (They) make the area around the trash bins dirty.

The day before yesterday, while eating the trash, (the cats) were making a lot of noise, so (I) woke
up. (I) went outside and said “(I) am going to catch (you)!” in a big voice, but the cat was with small
kittens. Those kittens hadn’t opened their eyes yet, and were meowing. After that, (I) went back
into the house to get some milk and gave it to that cat.

Today, (I) am going to buy cat food at the supermarket and give those cats (the food). (I) still hate
other cats. However, those cats (I) like.

feed — animal food.

vicinity (written) — vicinity (spoken, more casual)

to catch - to take

kitten - baby cat

Why does “I” hate cats?
1 Because cats are dirty.
2 Because cats eat garbage.
3 Because cats aren’t noisy and (they) don't like people.
4 Because cats hate people and aren’t quite.

The correct answer is #4-RZlE AD EFES5VT. LTHLrEVLHLSTY .

Answer 4 is basically a rewording of the passage’s first sentence. Answer 1 is incorrect because the
author says that his trash cans are dirty not the cats. For answer 2, the author complains about the
cats eating garbage, but he doesn’t give that as a specific reason for hating them. Answer 3 states
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that cats are not noisy, but the author complains that they are.
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ROMAJI

“Watashi” wa nani o shimashita ka.
1 Neko o ie ni motte kimashita.
2 Neko no esa o kaimashita.
3 Neko o soto ni okimashita.
4 Neko ni nomimono o agemashita.

ENGLISH

What did “1” do?
1 Brought the cats to (his) house.
2 Bought cat food.
3 Put the cats outside.
4 Gave the cats a drink.

The correct answer is #4- R Zlc BRHFED%E HIFELT:.

The author says that he went back inside to get milk and gave it to the cats. In other words, he gave
the cats a drink. The passage doesn’t mention anything about putting or taking the cats anywhere so
answers 1 and 3 are also wrong. For answer 2, the author says he will buy food today. So, he hasn’t
bought it yet.
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ROMAJI

Furansu kara kita watashi no tomodachi wa Matin-san to iimasu. Matin-san to issho ni Nihongo no gakko
ni itte imasu. Mai-nichi watashi wa bent6 o jibun de tsukurimasu. Senshi, Matin-san wa “Anata no bento
wa nakami ga sukunai desu ne.” to iimashita. Watashi wa “Obento o kantan ni tsukutte, mijikai jikan de
tabetai desu.” to iimashita.

Matin-san wa itsumo bento o utsukushiku tsukurimasu. Tabun, mai-nichi sanjuppun gurai de tsukurimasu.
“Hirugohan wa utsukushiku tsukutta mono o takusan tabetai desu. Soshite shigoto o takusan shimasu. le
de issho ni ryori o shimasen ka.” to, Matin-san wa iimashita.

Doyobi wa Matin-san no ie ni ikimasu.

nakami - naka ni haitte iru mono

Doshite Matin-san wa “watashi” no bento ga amari suki ja nai desu ka.
1 Bento o mijikai jikan de taberu kara desu.
2 Bento ni wa iroiro na nakami ga aru kara desu.
3 Bento no nakami o sukunaku kantan ni tsukuru kara desu.
4 Bento ga chotto chiisai kara desu.

ENGLISH

My friend that came from France is called Mr. Martin. (I) go to Japanese school together with Mr.
Martin. Every day [ make my own bento. Last week, Mr. Martin said “Your bento’s contents are
scarce, aren’t they?” I said “(I) make bento simply, (I) want to eat in a short time.”

Mr. Martin always made bento beautifully. Probably, every day (he) takes about 30 minutes to make (it).
“As for lunch, (I) want to eat a lot of beautifully made things. And also, (I) work a lot. Why don’t we
cook together at my house?” Mr. Martin said.

(I) am going to Mr. Martin’s house Saturday.
contents - things placed inside

Why does Mr. Martin not really like “my” bento?
1 Because (“I”) eat bento in a short time.
2 Because there are various contents in (“my”) bento.
3 Because (“I”) make (“my”) bento simply with sparse contents.
4 Because (“my”) bento is small.

The correct answer is #3-NAESD Lbdk%iE F<EL hhAkhlc D2{BH5TT.

Mr. Martin comments that the author’s bento doesn’t have many ingredients. In the next paragraph,
it seems like Mr. Martin likes spending a lot of time making a nice bento, and doesn’t like to have a
simple lunch. For answer 1, Mr. Martin never comments on this specifically. Answer 2 is the opposite
of what he said. For answer 4, the passage doesn’t say anything about the size of the bento, just the
variety of ingredients inside.
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ROMAJI

Doyobi, “watashi ” wa nani o shimasu ka.
1 Utsukushii tabemono o mimasu.
2 Utsukushii bento o tsukurimasu.
3 Matin-san ga tsukutta ryori o tabemasu.
4 Bento o kantan ni tsukurimasu.

ENGLISH

What is “I” doing on Saturday?
1 Look at beautiful food.
2 Make beautiful bento.
3 Eat cooking made by Mr. Martin.
4 Make bento simply.

The correct answer is #2- 52 LLMAES%E DKW ET .

Mr. Martin invites the author over to his house to do some cooking, so we can guess that they will

be making some beautiful bento. Answer 1 is not mentioned in the passage. For answer 3, they may
very well end up eating the food they make, but that is never mentioned. Since Mr. Martin doesn’t

seem to like simple bento, it is unlikely they will make simple bento.
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ROMAJI

Senshi, atarashii kaisha no shigoto ga hajimarimashita. Kaisha wa benri na tokoro ni arimasu. Soba ni
yasukute oishii resutoran ga arimasu. Eki kara aruite go-fun desu. Eki no chikaku ni pan’ya ga arimasu.
Kono kaisha ni hairu mae wa pan o amari kaimasen deshita. Shikashi, ima wa itsumo pan o kaimasu. Sore
kara, kaisha to oishii resutoran no aida ni kéhii no mise ga arimasu. Mai-asa kéhii mo kaimasu. Okina
mondai desu yo.

Satsu ga furuku natta node, atarashii siitsu o kaitai desu. Shikashi, ima wa okane ga arimasen. Pan to
kohii o itsumo takusan kau kara desu.
Tsugi no naka de, “watashi” no kaisha kara ichi-ban chikai mise wa dore desu ka.

1 sdtsu no mise

2 oishii resutoran

3 kohii no mise

4 pan'ya

ENGLISH

Last week, (I) started work at a new company. (lit., started a new company’s work.) The company
is in a convenient place. Nearby there is a cheap delicious restaurant. From the station it is a
S5-minute walk. There is a bakery near the station. Before (I) entered that company, (I) didn’t buy
many pastries. However, now (I) always buy pastries. After that, there is a coffee shop between the
company and the delicious restaurant. Every morning, (I) buy coffee. (This) is a big problem.

My suits got old, so (I) want to buy new suits. However, now, (I) don’t have money. Because (I) buy
too many pastries and coftee.

Which of the following is the closest store from “my” company?
1 the suit shop
2 the delicious restaurant
3 the coffee shop
4 the bakery

The correct answer is #3- d—kb—0 [§.

Earlier in the passage the author mentions that the delicious restaurant is close. Later he writes that
there is actually a coffee shop between the delicious restaurant and his company, so the coffee shop
must be the closest building.

BE [RELGEAEVWTTL ] TTH,
1T LT%E LTWs26TY,
2 B&) B BHE»I6TY,
3 8N HEELNSL, a—k—% KLANLTT,
4 BRI 28726 2BLWNH6TY,

ROMAJI

Naze “okina mondai desu yo.” desu ka.
1 Shigoto o shite iru kara desu.
2 Okane ga naku naru kara desu.
3 Kaisha e arukinagara, kohii o nomu kara desu.
4 Eki wa kaisha kara toi kara desu.
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ENGLISH

Why is it “a big problem”?
1 Because (I) am working.
2 Because (my) money is running out.
3 Because while walking to the company, (I) drink coffee.
4 Because the station is far from the company.

The correct answer is #2- E&H L EB3H5TT .

Right after the author mentions there being a problem, he describes the problem for us. He has spent
too much money on bread and coffee, so now he doesn’t have money for a new suit. For answers 1
and 3, the author doesn’t mention anything about this being a problem in the passage. Answer 4,
the author tells us that his office is actually quite close (5 minutes on foot).
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ROMAJI

Nihongo ga suki desu. Amerika ni sunde imasu ga, mai-nichi, Nihongo o benky6 shite imasu. Nihongo no
ongaku o kikinagara sentaku o shite, shigoto no ato de Nihongo no kurasu ni itte, neru mae ni Nihongo
no hon o yomimasu. Tsugi wa, kanji no rensha o hajimemasu.

Watashi wa Nihongo o hayaku jozu ni naritai desu ga, jikan ga amari arimasen. Sensha kara isshoni
hataraite iru Nihonjin no tomodachi to Nihongo o hanashite imasu. Shikashi, tomodachi wa nagaku
Amerika ni sunde imasu kara, tokidoki tadashii Nihongo ga wakarimasen.

“Watashi” wa doyatte Nihongo no benkyo o shite inai desu ka.
1 Tomodachi to hanashimasu.
2 Kurasu ni ikimasu.
3 Kanji no renshi o shimasu.
4 Ongaku o kikimasu.
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ENGLISH

(I) like Japanese. (I) live in America, but every day, (I) study Japanese. While listening to Japanese
music, (I) do the laundry, after work (I) go to Japanese class and before (I) go to bed (I) read a
Japanese book. Next, (I) am starting kanji practice.

I want to become skilled with Japanese quickly, but (I) don’t have much time. From last week, (I)
have been speaking Japanese with my Japanese friend I work together with. However, my friend has

lived in America for a long time, so sometimes he doesn’t know correct Japanese.

How do “I” not study Japanese?
1 Talk to (his) friend.
2 Go to class.
3 Do kaniji practice.
4 Listen to music.

The correct answer is #3- A LD hALwS5% LZEFY.

The author says he is going to start practicing kanji next, which means he is not currently practicing
kanji. He mentions doing all of the other items on the list.

rHiEbIE BY BAREY 5T EFTERAVTTD,
1T 2ALCZ BIXZAEEA
2 WANWE BARIZ WIEA,.
3 HIY NAZTIILIEA
4 HE61T TAIVHATY,

ROMAJI

Tomodachi wa naze Nihongo ga amari jozu dewa nai desu ka.
1 Kanji o oboemasen.
2 Nagai aida Nihon ni imasen.
3 Amari benky6 shimasen.
4 Tomodachi wa Amerika-jin desu.

ENGLISH

Why is (his) friend not very good at Japanese?
1 (He) doesn’t remember kanji.
2 (He) hasn’t been in Japan for a long time.
3 (He) doesn’t study much.
4 (His) friend is American.

The correct answer is #2- GHWE BHZEIC LWIFHA.

The author tells us that his friend has lived in America for a long time, so he sometimes doesn’t
understand what is correct Japanese. Another way to say that is that he has lived in America for a
long time, is that he hasn’t been in Japan for a long time.
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ROMAJI

Kei-san to issho ni shigoto o shite imasu. Ni-gatsu jiyokka Kei-san kara okashi o moraimashita. Sono
okashi wa totemo oishikatta desu kara ii okashi o kaimashita. Depato ni itte ichi-ban takai okashi o
katte sore kara san-gatsu jayokka ni Kei-san no tsukue ni okimashita.

San-gatsu jugo-nichi isshoni shigoto shite iru Akiko-san wa “Arigato gozaimasu, shikashi watashi wa anata
ni sengetsu okashi o agemasen deshita.” to iimashita. Watashi wa “watashi mo.” to iimashita.

“Chotto matte kudasai. Anata no tsukue wa doko desu ka.” to kikimashita.
“Tanaka-san to Nishimura-san no aida desu.”
“Kei-san wa.”

“Kitamura-san no tonari desu yo.”

Naze takai okashi o kaimashita ka.
1 Depato wa takai mono dake utte ita kara desu.
2 Kei-san ga daisuki dakara desu.
3 Moratta okashi wa oishikatta kara desu.
4 li okashi ga daisuki dakara desu.

ENGLISH

(I) work with Kei. On February 14th (I) received some sweets from Kei. Those sweets were really
delicious, so (I) bought some nice sweets. (I) went to the department store, bought the most
expensive sweets and then put them on Kei’s desk on March 14th.
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On March 15th, Akiko, who (I) work together with said “thanks, but I didn’t give you any sweets last
month.”

I said “I also (didn’t give you sweets.)”

“Wait a moment. Where is your desk?” (I) asked.
“Between Mr. Tanaka and Ms. Nishimura.”

“Kei (’s desk)?”

“Next to Ms. Kitamura’s.”

Why did (“I”) buy expensive sweets?
1 Because the department store was selling only expensive sweets.
2 Because (“I”) loves Kei.
3 Because the sweets (“I1”) received were delicious.
4 Because (“I1”) loves nice sweets.

The correct answer is #3- £ 52fEH LIE L LHL>Teh 5T .

The author says that the sweets Kei left on his desk were really delicious, so he wanted to buy some
really nice sweets for her. Nothing about the other answers is mentioned in the passage.

T HIIIAT BrLE BH5VWELED,
T HWIAN HEIIAIT dIFEILTT,
2 ThLl 13 HEIIAN EOTEENILTT,
3HEFIIAE HWIAD Bz Yok b6TY,
4 Thi=L] 13 BAIDZIT Borlr BWEILTT,

ROMAJI

Naze Akiko-san wa okashi o moraimashita ka.
1 Kei-san ga Akiko-san ni ageta kara desu.
2 “Watashi” wa Akiko-san ga daisuki dakara desu.
3 Akiko-san wa Kei-san no okashi o totta kara desu.
4 "Watashi” wa chigau tsukue ni okashi o oita kara desu.

ENGLISH

Why did Akiko receive sweets?
1 Because Kei gave (them) to Akiko.
2 Because “I” loves Akiko.
3 Because Akiko took Kei’s sweets.
4 Because “1” put the sweets on a different desk.

The correct answer is #4- ThfzL1 I¥ BHS5DLZIc HhLE HWLIHSTT.

From the first bit of dialog, it is obvious that “I” [4>7/=L] , is a bit confused. He thinks he didn’t give
Akiko any sweets. Through the conversation we can see that he made a mistake about the location
of Kei’s desk. He obviously put it on Akiko'’s desk, thinking it was Kei'’s.
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ROMAJI

Sengetsu atarashii ie ni hairimashita. Daidokoro wa kirei ni soji shita node, akarukute kirei desu. Hitotsu
no heya niwa okii terebi o okimashita. Kono heya de itsu mo eiga o mitari géemu o shitari shimasu.
Totemo tanoshii desu.

Tonari no hito wa hana ga daisuki desu. le no niwa ni iroiro na hana ga takusan arimasu. Watashi no
kodomo wa itsu mo sono hana o toritai desu ga, tonari no hito wa “toranaide kudasai.” to itte imasu.
Dakara, watashi mo niwa ni hana o okitai desu. Ashita, hana o kaitai desu.

Nani ga tanoshii desu ka.
1 Niwa de hana o toru koto.
2 Terebi o oita heya de gému o suru koto.
3 Akarui daidokoro de ryo6ri o suru koto.
4 Atarashii ie ni sunde iru koto.

ENGLISH

Last month, (I) entered a new house. The kitchen was cleaned beautifully, so it was bright and pretty. (I)
put a big TV in one of the rooms. (I) am always in that room watching movies, playing video
games etc. (It) is really fun.

(My) neighbor loves flowers. In (his) garden there are many various flowers. My children always
want to pick the flowers, but (my) neighbor says “Don’t take (them) please.” So, I also want to put
flowers in my garden. Tomorrow, (I) want to buy flowers.

What is fun?
1 Picking flowers in my garden.
2 Playing a game in the room with a TV set.
3 Cooking in the bright kitchen.
4 Living in the new house.
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The correct answer is #2- 7L EZR HWIAPT F—L% 952 ¢.

The room with the TV is where the author plays games and watches TV, which are both pretty
exciting things to do. It would make sense that he is talking about the room where he put the TV.
He doesn’t mention a lot about the kitchen or house being very exciting. Answer 1 is incomplete.
The author gives playing video games as one example of why he likes the room with the TV.

2 L e BOWEWTED,
1T 22D A2 ST 5TT,
2 TAXARD BLOLNSHTT,
3 28y e FEENSTY,
4 ZXEn XRUYDAD xR Yo5ENHTT,

ROMAJI

Naze ashita hana o kaitai desu ka.
1 Tonari no hito ni agetai kara desu.
2 Takusan hana ga hoshii kara desu.
3 Kodomo ga hana o suki dakara desu.
4 Kodomo ga tonari no hito no hana o totta kara desu.

ENGLISH

Why do (I) want to buy flowers tomorrow?
1 Because (I) want to give (them) to my neighbor.
2 Because (I) want lots of flowers.
3 Because (my) kids like flowers.
4 Because (my) kids picked my neighbor’s flowers.

The correct answer is #3- TEEHD 6% TERHSTT .

We can guess that since the author’s kids want to pick the flowers, they probably like flowers, and so
the author is going to buy some flowers so his kids don’t pick his poor neighbor’s flowers. Answer 4 is
incorrect because the author said his kids want to pick the flowers, but they never picked the flowers.

9]
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ROMAJI

Senshu no doy6bi ni koen de hirugohan o tabemashita. Sono hi no mae ni minasan ni “Osara to
tabemono o motte kite kudasai.” to iimashita. Osushi wa Yoko-san to Akiko-san ga motte kimashita.
Yakitori wa Yoko-san to Takahiro-san ga motte kimashita. Sarada wa Yumi-san to Yoko-san ga motte
kimashita. Tabemono ga takusan arimashita.

Shikashi, Mira-san wa osara dake o motte kimashita. Watashi wa “Doshite osara dake o motte kimashita
ka.” to kikimashita.

Mira-san wa “Anata wa ‘osara o motte kite kudasai. to iimashita” to iimashita.

“Chotto chigaimasu yo.” to kotaemashita.

Yoko-san wa nani o hirugohan ni motte kimashitaka
1 Yakitori to osushi
2 Yakitori to osushi to sarada
3 Sarada
4 Osushi to sarada

ENGLISH

Last week, on Saturday (I) ate lunch in the park. The day before that (I) told everyone “Bring a plate
and food please.” Yoko and AKiko brought sushi. Yoko and Takahiro brought yakitori. Yumi and
Yoko brought salad. There was a lot of food.

However, Mr. Miller only brought a plate. I asked “why did you bring only a plate?”
Mr. Miller said “You said ‘bring a plate please.”

“(That) is a little different.” (I) answered.

What did Yoko bring to lunch?
1 Yakitori and sushi.
2 Yakitori, sushi, and salad.
3 Salad.
4 Sushi and salad.

The correct answer is #2- ®F¥ &V E HILE BS54,

Yoko seems to have brought a lot of food to the lunch in the park. The author mentions in 3 separate
sentences what Yoko brought. If you add them all up, you have the list of 3 items that are in answer 2.

E brosrbEHlnETH,
1 BXLE (XA B-5TEFLA,
LI ZIZ AT TEFLI-,
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ROMAJI

Naze chotto chigaimasu ka.
1 Osara o takusan motte kimashita.
2 Chigau koen ni ikimashita.
3 Mira-san wa tabemono o motte kimasen deshita.
4 Gyuniku o motte kimashita.

ENGLISH

Why is (it) a little different?
1 (Mr. Miller) brought a lot of plates.
2 (Mr. Miller) went to the wrong park.
3 Mr. Miller didn’t bring food.
4 (Mr. Miller) brought beef.

The correct answer is #3- S5 —FhlE BRED%E HH>TEFHATLLE.

In the first paragraph, the author tells Mr. Miller to bring a plate and food, but he just remembered
the part about bringing a plate, so he didn’t bring any food. This is different from what he requested.

SPIE WArs  HFEY ErTIERA, T O XLLT woE TLEER O RAY R
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ROMAJI

Fuyu wa ie kara amari dekakemasen. Soto wa samukute, itsumo terebi o mitari hon o yondari shimasu.
Haru wa tokidoki koen de hana o minagara hirugohan o tabete biiru 0 nomimasu. Shikashi, kotoshi wa
tenki ga warukatta desu kara, haru mo ie de hon o takusan yomimashita.

Natsu wa puru ni ikitai desu. Shichi-gatsu to hachi-gatsu dake aite imasu ga, tanoshii desu. Tomodachi ni
atte issho ni oyogimasu. Mai-nichi osoku made kaerimasen. Aki wa doko mo utsukushiku narimasu.
Gakko e arukinagara kirei na iro no ki o mimasu. Tenki wa itsu mo suzushii desu kara, soto ni dekakemasu.
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Kono haru ni “watashi” wa nani o shimashita ka.
1 Koen ni yoku ikimashita.
2 Amari ie kara demasen deshita.
3 Terebi o mimashita.
4 Biiru 0 nomimashita.

ENGLISH

(I) don’t go out much in winter. Outside is cold, so (I) always watch TV, read books etc... For spring (I)
sometimes eat lunch and drink beer while looking at the flowers in the park. However, this year the
weather was bad, so (I) read a lot of books at home (this) spring, too.

In summer, (I) want to go to the pool. (It) is open only in July and August, but (it) is fun. (I) meet
my friend and (we) go swimming together. Every day (I) don't return until late. In fall, everywhere
becomes beautiful. While (I) walk to school, (I) see beautifully colored trees. The weather is always
cool, so (I) go out.

This spring, what did “I” do?
1 Went to the park a lot.
2 Didn't go out from the house much.
3 Watched TV.
4 Drank beer.

The correct answer is #2- %Y WZHS HFHBATLL:.

The author, [457=L] , writes in the first paragraph that she read lots of books at home because of
the bad weather. We can assume from this that she didn’t get out of the house much. Earlier in the
paragraph, she does say that she usually goes to the park to look at flowers and eat lunch. But then
she later goes on to clarify what she did this year.

Be on the lookout for keywords like [ 7L (shikashi, however), T% (demo, but) or 7' (ga, but).
These can signal a change in the flow of the passage.
ol bl 13 %2 LEda,
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ROMAJI

Natsu ni “watashi” wa nani o shimasu ka.
1 Ichi-nichi-ju ie ni imasu.
2 Tomodachi to asobimasu.
3 Roku-gatsu shika puru ni ikimasen.
4 Kirei na iro no ki o mimasu.
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ENGLISH

What do “I” do in summer?
1 Be at home all day.
2 Have fun with friends.
3 Don’t go to the pool except in June.
4 See beautifully colored trees.

The correct answer is #2- &b E HBZTUET .

The author, [4>7=L], writes that she goes swimming with her friend. Answer 2 is basically just a
rewording of that. For answer 1, she said she stays home most of the winter, not summer. For answer

3, the pool isn’t open in June, so she can’t go then. For answer 4, she writes that there are colorful
trees in fall.
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